Bell Ringer Solve the equation; leave in simplified radical form.

-3x2 + 16 = -38



Bell Ringer Solve the equation; leave in simplified radical form.
-3x2 + 16 = -38
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Chapter 10-7 Notes: Factoring Special Types of Quadratics

If "a" and "c" terms are perfect squares, then three special patterns exist:

1) Difference of Two Squares: a®-c*factorsto(a+c)(a-c)
Example: m? - 4 factorsto(m+2)(m-2)

2) Perfect Square Trinomial Addition: a*+ 2ac + ¢* factorsto (a + ¢ )
Example: 16y° + 24y +9 factorsto (4y +3 )°

3) Perfect Square Trinomial Subtraction: a°-2ac + ¢? factorsto (a-c )?
Example: 4x?-4x + 1 factorsto (2x-1)?

May need to factor out the GCF to identify the pattern.

Remember: When solving quadratics by factoring, you try to find the value of
"x" that makes the equation equal zero. Factoring is a method of finding
solutions; it is not the solutions.



\[dentify and state the pattern, factor, and then solve the equation.
1) x2-9=0
Difference of ng Scsu.ﬂ res ( @ + C) (Q-" C—)
(x+3)(x-3)=0
X=-3and 3

2)49x*-81=0

Differonce of Two Sguares (arc)(a-c)
(Ix + fi) ('h:* ‘l)=—0

- -9 q
- — d_—.
X - an -



l[dentify and state the pattern, factor, and then solve the equation.
3) 9y*+60y+100=0

’Kr'ﬁ":zﬂ' Sguar: Trinomial Addition (‘11'{:')
b term = Rac = Q(ﬂ(*“) O

(37 + HJ}; =0



l[dentify and state the pattern, factor, and then solve the equation.
4)2x¢-12x+18 =0

?frﬁc"‘ %uqrc Trinnmj ttl 5ub+ch+i on
2(X*- bx+2)  Why? “2ac="20N(3) =~

2x-3)" =0

X =



\[dentify and state the pattern, factor, and then solve the equation.
5) 36x*-144 =0



\[dentify and state the pattern, factor, and then solve the equation.

5) 36x°- 144 =0 }l+4:'f:rr¢n-:¢ u'l': Twn Sﬁuaf’:S
(bx +12)(6x-12)= O

oY

3 (x+3) (x-2) =0

K= "'9\ and ok



\[dentify and state the pattern, factor, and then solve the equation.
6) 4x*+24x+36 =0



\[dentify and state the pattern, factor, and then solve the equation.
6) 4x*+24x+36 =0

?Erﬁc.'l' chuqre. Tf[ﬂﬂﬂlrﬂ-' Aﬂldi"‘l.ﬂﬂ
Y(x3 (x +Q) = O
= |
4(x+3) = O

X=9



\[dentify and state the pattern, factor, and then solve the equation.

7) 1/3x*-6x+27=0



\[dentify and state the pattern, factor, and then solve the equation.

7) 1/3x*-6x+27=0

?Ef-ft;ﬂ_’_ j?t{ﬂfﬂ Tr;ﬂﬂl""'l.:‘ﬂ;, ﬁ}’_‘-qu:l_l.ﬂﬂ

Fﬁtc'lhr‘ uu.."' 'é
3(x*- 18x +81)= O
$(x-9 <o

X =



\[dentify and state the pattern, factor, and then solve the equation.

8) 98-2x=0



\[dentify and state the pattern, factor, and then solve the equation.

8) 98-2x*=0 .:])I"F"ffffﬂt{ E'-F Twﬂ .Sgl{ﬂ.’"f.ﬂ'
- Ax2498=0

factor owt -2
- 2(x*- 42)=0
-2 (x+ -1 =0

X= -7 and |



